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All measurements are from center of hole at A-B, at the top surface of the part.

All units are inches.
In this description, I use 

X axis defined as horizontal in the drawing 6080-018, ie. section BB,

Y axis defined as vertical in the drawing, ie. section AA,

Z axis defined as out-of-the-page, with z=0 at the top of the part,

   ie, the sections AA and BB show Z=0 to Z = -0.940 .

vertical line 1

a) measure X, nominal X = 0.984, Z = -0.07, probe motion is decr X, 

    (note that with the +30 cut, the exposed surface has Z={0.030 , -0.127} and  X=1.014 )

b) measure Z, nominal Z = -0.157, X= 1.114 (nominal+0.13),  probe motion is decr Z,

    (note that with the +30 cut, the exposed surface has X={1.014 , 1.250} and Z= -0.127 )
 Y=1.2 , 2.2, 3.2,   4.3, 5.3, 6.3, 7.3, 8.3, 9.3, 10.3, 11.3,   12.5, 13.5, 14.5

    (note that Y is clear { 1.134 , 3.275 } , { 3.831 , 11.878 } , { 12.433 , 14.574 } 
vertical line 2
a) measure X, nominal X = 3.425, Z = -0.07, probe motion is incr X, 

b) measure Z, nominal Z = -0.157, X= 3.295 (nominal-0.13),  probe motion is decr Z,

Y=                        4.3, 5.3, 6.3, 7.3, 8.3, 9.3, 10.3, 11.3
vertical line 3

a) measure X, nominal X = 3.681, Z = -0.08, probe motion is decr X, 

b) measure Z, nominal Z = -0.157, X= 3.811 (nominal+0.13),  probe motion is decr Z,

Y=                        4.3, 5.3, 6.3, 7.3, 8.3, 9.3, 10.3, 11.3

vertical line 4

a) measure X, nominal X = 8.150, Z = -0.07, probe motion is incr X, 

b) measure Z, nominal Z = -0.157, X= 8.020 (nominal-0.13),  probe motion is decr Z,

Y=                                                                                      12.5, 13.5, 14.5

vertical line 5

a) measure X, nominal X = 8.406, Z = -0.07, probe motion is decr X, 

b) measure Z, nominal Z = -0.157, X= 8.536 (nominal+0.13),  probe motion is decr Z,

Y=                                                                                      12.5, 13.5, 14.5

vertical line 6

a) measure X, nominal X =15.965, Z = -0.07, probe motion is incr X, 

b) measure Z, nominal Z = -0.157, X=15.835 (nominal-0.13),  probe motion is decr Z,

Y=1.2 , 2.2, 3.2,   4.3, 5.3, 6.3, 7.3, 8.3, 9.3, 10.3, 11.3,
vertical line 7

a) measure X, nominal X =16.220, Z = -0.07, probe motion is decr X, 

b) measure Z, nominal Z = -0.157, X=16.350 (nominal+0.13),  probe motion is decr Z,

Y=1.2 , 2.2, 3.2,   4.3, 5.3, 6.3, 7.3, 8.3, 9.3, 10.3, 11.3

vertical line 8

a) measure X, nominal X =20.630, Z = -0.07, probe motion is incr X, 

b) measure Z, nominal Z = -0.157, X=20.500 (nominal-0.13),  probe motion is decr Z,

Y=1.2 , 2.2, 3.2,   4.3, 5.3, 6.3, 7.3, 8.3, 9.3, 10.3, 11.3,   12.5, 13.5, 14.5

horizontal line 9

a) measure Y, nominal Y= 0.984, Z = -0.07, probe motion is decr Y                    

    (note that with the +30 cut, the exposed surface has Z={0.030 , -0.127} and  Y=1.014 )

b) measure Z, nominal Z = -0.157, Y= 1.114 (nominal+0.13),  probe motion is decr Z,

    (note that with the +30 cut, the exposed surface has Y={1.014 , 1.250} and Z= -0.127 ) 

X=1.2 , 2.2, 3.2,   4.4, 5.4, 6.4, 7.4,   8.7, 9.7, 10.7, 11.7, 12.7, 13.7, 14.7, 15.7,   

    16.8, 17.8, 18.8, 19.8

   (note that X is clear {1.134 , 3.275},{3.831 , 8.000},{8.556 , 15.815},{16.370 , 20.480} 

horizontal line 10

a) measure Y, nominal Y= 3.425, Z = -0.07, probe motion is incr Y                    

b) measure Z, nominal Z = -0.157, Y= 3.295 (nominal-0.13),  probe motion is decr Z,

X=1.2 , 2.2, 3.2,   4.4, 5.4, 6.4, 7.4,   8.7, 9.7, 10.7, 11.7, 12.7, 13.7, 14.7, 15.7,   

    16.8, 17.8, 18.8, 19.8

horizontal line 11

a) measure Y, nominal Y= 3.681, Z = -0.07, probe motion is decr Y                    

b) measure Z, nominal Z = -0.157, Y= 3.811 (nominal+0.13),  probe motion is decr Z,

X=1.2 , 2.2, 3.2,   4.4, 5.4, 6.4, 7.4,   8.7, 9.7, 10.7, 11.7, 12.7, 13.7, 14.7, 15.7,   

    16.8, 17.8, 18.8, 19.8

horizontal line 12

a) measure Y, nominal Y=12.028, Z = -0.07, probe motion is incr Y                    

b) measure Z, nominal Z = -0.157, Y=11.898 (nominal-0.13),  probe motion is decr Z,

X=1.2 , 2.2, 3.2,   4.4, 5.4, 6.4, 7.4,   8.7, 9.7, 10.7, 11.7, 12.7, 13.7, 14.7, 15.7,   

    16.8, 17.8, 18.8, 19.8

horizontal line 13

a) measure Y, nominal Y=12.283, Z = -0.07, probe motion is decr Y                    

b) measure Z, nominal Z = -0.157, Y=12.413 (nominal+0.13),  probe motion is decr Z,

X=1.2 , 2.2, 3.2,   4.4, 5.4, 6.4, 7.4,   8.7, 9.7, 10.7, 11.7, 12.7, 13.7, 14.7, 15.7,   

    16.8, 17.8, 18.8, 19.8

horizontal line 14

a) measure Y, nominal Y=14.724, Z = -0.07, probe motion is incr Y                    

b) measure Z, nominal Z = -0.157, Y=14.594 (nominal-0.13),  probe motion is decr Z,

X=1.2 , 2.2, 3.2,   4.4, 5.4, 6.4, 7.4,   8.7, 9.7, 10.7, 11.7, 12.7, 13.7, 14.7, 15.7,   

    16.8, 17.8, 18.8, 19.8
